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Question Number : 1 Question Id : 953357248555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which domain of development relates to intellectual abilities such as attention, memory, problem

solving, imagination and creativity?
Options :

1. Emotional domain

2. Cognitive domain

3. Social domain

4. Physical domain

Question Number : 1 Question Id : 953357248555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357248556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sana learnt to hold a glass and a bottle before she could hold a pen or button her shirt. This

example indicates that -

Options :

1. Development is unidimensional.

2. Direction of development is cephalo -caudal.
3. Direction of development is proximo - distal.

4. Direction follows a random pattern.

Question Number : 2 Question Id : 953357248556 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357248557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Development of children is a result of -
Options :

1. only heredity.

2. only environment.

3. schooling and education.

4. interaction between heredity and environment.

Question Number : 3 Question Id : 953357248557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357248558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of these is NOT a primary agent of socialization ?

Options :



1. Family
2. Neighbourhood
3. Peers

4. Government

Question Number : 4 Question Id : 953357248558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357248559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the basis if children's responses to Heinz dilemma, Lawrence Kohlberg has proposed specific

developmental stages of -
Options :

1. Moral Development

2. Social Development

3. Psychological Development

4. Personal Development



Question Number : 5 Question Id : 953357248559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357248560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

9 year old Leela classifies a collection of buttons according to their size. She then combines all
groups of buttons and re-distributes them on the basis of holes on them. According to Jean

Piaget's theory of cognitive development, Leela is in stage of development.
Options :

1. Pre -operational

2. Formal -operational

3. Concrete -Operational

4. Sensori -Motor

Question Number : 6 Question Id : 953357248560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357248561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

____occurs when children transform their experiences to fit into their existing schemes.
Options :

1. Assimilation

2. Accommodation

3. Centration

4. Conservation

Question Number : 7 Question Id : 953357248561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357248562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lab Vygotsky's theory of cognitive development is called a theory as he argues that

children's learning takes place in a context.
Options:

1. psycho -dynamic

2. psychosexual

3. social -cultural

4. behaviouristic

Question Number : 8 Question Id : 953357248562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357248563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When a teacher adjusts the support offered to a child to fit the child's current level of performance

and to help her reach her zone of proximal development, the teacher is -
Options :

1. using co-operative learning.

2. demonstrating inter -subjectivity.

3. scaffolding the child.

4. inducing cognitive conflict in the child.

Question Number : 9 Question Id : 953357248563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357248564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a progressive classroom -

Options :

1. teaching is textbook -centric.

2. emphasis is placed on summative assessment.
3. learners play an active part in their learning.

4. teachers uses rewards and punishment to direct children's learning.

Question Number : 10 Question Id : 953357248564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357248565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

intelligence refers to the ability to recognize and respond appropriate to the moods,

temperaments and intentions of others.



Options :
1. Interpersonal
2. Intrapersonal
3. Spatial

4. Logics -mathematical

Question Number : 11 Question Id : 953357248565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357248566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 proposes that -

Options :

1. children in primary grades should be taught in home / local languages.
2. there should be one uniform language of instruction in primary classes.
3. teachers should be discouraged to use a bilingual approach.

4. multilingualism should be heavily discouraged.



Question Number : 12 Question Id : 953357248566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357248567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A School gives preference to boys while selecting students for Badminton competition and to girls

for music competitions. This indicates -
Options :

1. Gender stability

2. Gender identity

3. Gender equality

4. Gender stereo typing

Question Number : 13 Question Id : 953357248567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357248568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Continuous and comprehensive evaluation entails which of these -
i) planning on parameters and tools of evaluation

if) meticulous record keeping by the teacher

iii) periodic testing and ranking of children

iv) integration with the teaching -learning process
Options :
1.1, i, iv

2.1, iv

Question Number : 14 Question Id : 953357248568 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357248569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What should be the underlying principal for assessment according to National Education Policy

20207

Options:

1. Primarily testing rote memorisation skills

2. Encouraging learning of content only

3. Optimizing learning and development for all students

4. Assessing students only into the cognitive domains through end of the year examination

Question Number : 15 Question Id : 953357248569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357248570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is the following is the latest legislation passed by the Indian Parliament for people with
disability?

Options :

1. National Education Policy

2. Person with Disabilities (Equal Opportunities, Protection of Rights and Full Participation ) Act
3. Rights of Persons with Disabilities Act

4. Right to Education Act

Question Number : 16 Question Id : 953357248570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357248571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which if the following statement accurately describes the spirit of inclusion in a primary

classroom?

Options :

1. Teacher promotes the use of a standard and uniform language only

2. Teacher holds prejudice towards children from certain caste groups

3. Teacher does not have any expectation from children with special educational needs

4. Teacher practices culturally responsive pedagogy.

Question Number : 17 Question Id : 953357248571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Freaferfias & & 1 |1 o STU T fovt S e i W T BN G e 2
Options :

| Torerer Sharer W ot v e fit W o T A e aa 2

- i, s [ r _
5 foTers F ST FHE %F =37 F U5 U910 @/ a2

o,

3 ToTeTE T T SfeTer STavamaTet aTet = | HIE AUHT T8 Bl 2



4 ﬁT&'l_GF Hi'&-ﬂﬁmﬁﬁ LSl ﬁdmdlﬂl ‘ﬁ &AT-21TH &0l HE-I\HI *ﬂﬁtd[.-"ﬂﬁ{df] %

Question Number : 18 Question Id : 953357248572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The set if characteristics that defines a gifted students are -
i) learns rapidly and retains
ii) is alert, keenly observant and responds quickly

iii) performs better with acceleration
Options :

1. 1), ii)

2. i), iii)

3.1), i), iii)

4. ii), iii)

Question Number : 18 Question Id : 953357248572 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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. (i) (i), (iii)

4. (i), (iii)

Question Number : 19 Question Id : 953357248573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which is the following is NOT an effective pedagogical strategy for inclusion of students with

severe visual impairment ?

Options :

1. Speaking clearly and explicitly

2. Three dimensional maps and charts
3. Felt books and felt boards

4. Use of computers to give visual presentations

Question Number : 19 Question Id : 953357248573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357248574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teachers should provide diverse learning opportunities to facilitate meaningful

learning for all children.
Reasons (R): All children have the potential to learn.

Choose the correct option.

Options :

1. Both (A) and (R) are true and ( R) is the correct explanation of (A).

2. Both (A) and (R) are true but ( R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and ( R) are false.

Question Number : 20 Question Id : 953357248574 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357248575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student with external Locus of control would attribute his/ her failure in the examination to -
Options :

1. lack of ability.

2. lack of preparation.

3. (faulty) attitude.

4. (bad) luck.

Question Number : 21 Question Id : 953357248575 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357248576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following should be kept in mind while creating an effective environmentin a

progressive classroom

i) Methods of arranging the material to encourage exploration
if) Ways of supporting students in risk taking

iii) Putting students of some ability in one group

iv) Varied methods of assessment
Options :

1.1v), 1)

2. i), iv)

3. 1), i), iv)

4. 1), ii), iii), iv)

Question Number : 22 Question Id : 953357248576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357248577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a cooperative learning strategy?
Options:

1. Shaping

2. Seriation

3. Social isolation

4. Reciprocal questioning

Question Number : 23 Question Id : 953357248577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357248578 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mohan provides students with containers of different capacities to help them learn the concept of
volume. Farah ask students to brainstorm on possibilities of making waste disposal a mechanical

task so that people do not have to do these menial task.

Both of the teachers are employing_______in their classroom.
Options :

1. Behaviourism

2. Constructivism

3. Direct instruction

4. Operant conditioning

Question Number : 24 Question Id : 953357248578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357248579 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Apart from academic learning it is important to focus on the socio -emotional needs

of the students in an educational set up.

Reasons (R ) : Emotions play a significant role in cognition.

Choose the correct option.

Options:

1. Both (A) and ( R) are true and ( R) is the correct explanation of ( A).

2. Both (A) and ( R) are true but ( R) is not the correct explanation of ( A).
3. (A) is true and ( R) is false.

4. Both (A) and ( R) are false.

Question Number : 25 Question Id : 953357248579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357248580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Understanding errors made by children in academic work:
Options :

1. is relevant merely in assessing student's intellectual abilities.
2. is relevant only to judge teacher's efficiency in teaching.

3. is relevant to understand teaching as well as learning process.

4. is not relevant to any domain related to teaching or learning.

Question Number : 26 Question Id : 953357248580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357248581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Critical thinking involves

i) metacognition

i) analysis

iii) reflection
Options :
1.10), i), iii)

2. 1), ii)

3. i), ii)

4. i), iii)

Question Number : 27 Question Id : 953357248581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357248582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Anita, a teacher of 4 th grade is facing a situation in her class where several students are reporting

boredom in ongoing theme. In this scenario, she should:

Options :

1. Ignore these students and continue teaching the same content.
2. Punish these students and report this to their parents.

3. Reflect on the content of lesson and method of teaching.

4. Assume that these students are not capable of learning.

Question Number : 28 Question Id : 953357248582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357248583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What should a teacher tell her students to encourage them to be intrinsically motivated for tasks?

Options :

1. The students who finishes first will get 5 stars.

2. Let me see who finishes first, who is the smartest.

3. Working on this is so interesting. Let's see what all we can learn in this activity.

4. Those who do not finish quickly will not go out and play the games period.

Question Number : 29 Question Id : 953357248583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357248584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Pace of learning is:

Options:



1. dependent solely on personal factors.
2. dependent solely on environmental factors.
3. dependent on interaction of personal and environmental factors.

4. independent of both personal and environmental factors.

Question Number : 30 Question Id : 953357248584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Id : 95335714823
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 953357248585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For conducting a group activity, Ms. Anju, a class 4 teacher has used a collection of pebbles. She has
distributed 1/5th of the pebbles to group 1, 1/4th to group 2 and 1/3rd to group 3. After distributing if she has
26 pebbles left with her, what was the minimum number of pebbles she might have brought in the class?

Options :
1. 60

5> 120
3 73

4 146

Question Number : 31 Question Id : 953357248585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
1. 60

5 120



4. 146

Question Number : 32 Question Id : 953357248586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher asked students of class Il to mark some points in a sheet of paper. Later, she asked the students
to draw a rectangle in the same sheet without passing through any of these points. Then she asked the
students to count the points inside the rectangle. Through this activity, she CANNOT teach

Options :

1. Comparison of Numbers
, Area of rectangle

3. Inside-Outside

4. Spatial Understanding

Question Number : 32 Question Id : 953357248586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 953357248587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the number of tens in 7087
Options :

1. 0

Question Number : 33 Question Id : 953357248587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 0



4. 70

Question Number : 34 Question Id : 953357248588 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a six digit number, the digit of thousands place is 4. The digit at ten's place is double that of digit at
thousand's place and digit at hundred's place is half of the digit at thousand's place. The digit at unit's place
is half of the digit at hundred's place. Digit at Ten thousand's place is sum of the digits at thousands and
hundreds place and digit at lakh's place is half the digit at ten thousands place. What will be the number?

Options:
1. 634821

, 364812
3. 634281

4. 364281

Question Number : 34 Question Id : 953357248588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1 634821

5 364812



3 634281

4. 364281

Question Number : 35 Question Id : 953357248589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Farhan's father asked him to arrange some mangoes in groups. When he arranged them in a group of 2,
then 1 mango was left. He did the same with groups of 3 and 7 and each time one mango was left. He knows

that the number of mangoes are less than 50. If he arranges them in groups of 5, how many mangoes will be
left?

Options :
1. 0

Question Number : 35 Question Id : 953357248589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1. 0
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Question Number : 36 Question Id : 953357248590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the next term of the sequence 0,1,1,2,3,5,8,13,21,34......7

Options:
1. 43

2 47

3. 85

Question Number : 36 Question Id : 953357248590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
7. 43



Question Number : 37 Question Id : 953357248591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Gopalji has 8 cows and each of them gives 2 litre of milk every day which he sells in a nearby hotel at a rate
of 15.00 per litre. If he sells milk every day in the month of June, how much amount he should earn?

Options:
1. %3600
5 7200

3. 7600

4. 39000

Question Number : 37 Question Id : 953357248591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 33600
5 %7200

3. 27600

4. 39000



Question Number : 38 Question Id : 953357248592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Awire of length 86 cm is used to form a rectangle whose length (largest side) is 26 cm. Then same rectangle
has been changed into another rectangle whose length (largest side) is 31 cm. What will the difference
between the breadths (smallest side) of both the rectangles?

Options :
1. 17 cm

2 12cm
3. bcm

4. 3cm

Question Number : 38 Question Id : 953357248592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 953357248593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teacher asked class 5 students to observe the corners of the following objects: Note book, Table, Black
board. Through this activity she can discuss about:

Options :
1. Right angle

, Area of rectangles
3. Perimeter of rectangles

4. Difference between square and rectangle

Question Number : 39 Question Id : 953357248593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 953357248594 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Raghu started from his home to school at 9:10 am. It requires 20 minutes to reach school. When he reached
exactly half way he noticed that he forgot his math notebook at home. So he went back and took it. If he
fravelled in same speed throughout his journey, where will be the minute hand of the clock when he reaches
school?

Options :
1. 6

4. 10

Question Number : 40 Question Id : 953357248594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1. 6



4. 10

Question Number : 41 Question Id : 953357248595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ganesh and Dinga want to pack 4000 cubes of side 1 cm in various boxes. There are four different boxes A,
B, C, D having dimension 20cm X 10cm X 6em, 15¢m X 9em X 10cm, 11em X 11em X 10cm X 6em X 4em X
10cm respectively available for packing. How many centimetre cubes can be arranged in hoxes A, B, C and

D respectively?

Options:
1. 1100, 1350, 1260, 290

> 1210, 1200, 1300, 290
3. 1200, 1250, 1310, 240

4. 1200, 1350, 1210, 240

Question Number : 41 Question Id : 953357248595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1. 1100, 1350, 1260, 290

» 1210, 1200, 1300, 290



3 1200, 1250, 1310, 240

4. 1200, 1350, 1210, 240

Question Number : 42 Question Id : 953357248596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If & water tank has 500 litre water, then how many maximum pots, of equal capacity of 250ml, can be filled
from the water tank?

Options :
1. 200

, 600
3. 2500

4. 2000

Question Number : 42 Question Id : 953357248596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 200

5 600



4. 2000

Question Number : 43 Question Id : 953357248597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Anumber series is given with two of the terms missing. Choose the correct alternative that will continue the
same pattern.
2,0,4,2,6,6, ,12,10, .

Options :
. 10,20

, 12,10
5 8,20

4 8,48

Question Number : 43 Question Id : 953357248597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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, 10,20

, 12,10

5 8,20



8,48

Question Number : 44 Question Id : 953357248598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the median of the following fractional numbers:
719, 13/16, 2/3, 21/25, 17/21

Options:
1. 13/16

5 17/21

3. /9

4 21125

Question Number : 44 Question Id : 953357248598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 953357248599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children of a class were asked which of these they liked the most - Tea, Coffee or Milk. Children who like
Tea, Coffee and Milk are 1/2, 1/3 and 1/6 respectively of the total children of the class. If 20 children like
coffee, how many children like milk?

Options :
1. 10

2. 20

3. 30

Question Number : 45 Question Id : 953357248599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:

1. 10



4. 40

Question Number : 46 Question Id : 953357248600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Amathematics teacher asks the students to identify all the rectangles in a tangram. The above activity is
appropriate for assessing the learners at which level of geometric reasoning according to the Van-Hiele

Options :
1. Visualization

2 Axiomatic

3 Establishing relationships between different shapes

4. Recognition of shapes

Question Number : 46 Question Id : 953357248600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 953357248601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Games and puzzles are effective strategies in teaching mathematics since they help in enhancing
Options :

1 Procedural understanding

» Conceptual understanding

3. Utilization understanding

4. Factual understanding

Question Number : 47 Question Id : 953357248601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 953357248602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following reflects the correct sequence of learning mathematics, as given by Zolton Dienes:
Options:

1. Mathematical abstraction, Perceptual Variability Principle, Constructivity Principle
5 Perceptual Variability Principle, Mathematical Variability Principle, Constructivity Principle
3. Mathematical Variability Principle, Constructivity Principle, Perceptual Variability Principle

4. Constructivity Principle, Perceptual Variability Principle, Mathematical Variability Principle

Question Number : 48 Question Id : 953357248602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 953357248603 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|smail, a primary mathematics teacher, always first carry out some activities to understand his student's
previous knowledge. Based on the student's performance, he decides whether to move ahead with the next
concept or revise and consolidate the previous concept and then move to the next concept. As a
mathematics teacher, [smail,

Options :

|s following a linear model of assessment which includes planning, teaching a topic and assessing the
1 teaching episode.

» s wasting a lot of time and should focus on completing the syllabus
3. should carry out the assessment only after completing the topic

|s following a cyclic model of assessment which includes gathering information through assessment to
4. Improve earning environment for students.

Question Number : 49 Question Id : 953357248603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T, T T ST, AT 1 3 T T 3 g o T 33 7 e o 41 97
TGS T 7 TR0 a0 2 (0 ST ST o 1 7 2 91 T STeleom 1 e 2 410 38 e e
o 9% 1 SR IO 1 9 A 2 2

T 1 5 7, e -

Options :

1.



T TG T 3 T T T 4 T 5, o ST, T T 8 T 4 g T 3 7 e

At 3|

, STCTIETeh 72 T2 ¢ T8 A1 37 W1 ffarton bt 0t ot O Shiel TeAT ST

; 1 U T i Ot A F U geai w =)

TR AT T 5 7951 1 W 91 2 2, o e 2T TR TR o G 3 (T, e
) TR A 3

Question Number : 50 Question Id : 953357248604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Anees has given a group project to his students to classify different geometrical shapes. Which of the
following assessment techniques will be best suitable to assess students' performance in this project?

Options :

1. Rubrics

, Paper Pencil Test

3. Check list

4. Concept Map

Question Number : 50 Question Id : 953357248604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 953357248605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement describes most appropriately the purpose of word problems in mathematics
curriculum?

Options :

1. They can be used to test language competencies of the students.
5 They are helpful in introducing any formal algorithm of solving problems in mathematics.
3 They make mathematics more linked to the world outside the school.

4. They can be easily solved by all the students.

Question Number : 51 Question Id : 953357248605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 953357248606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following processes are part of Pre-number concepts in young children?
Options:

1 Classification, patterning and one-to-one correspondence
» Counting, skip counting and classification
3. Skip counting, patterning and conservation of number

4. Classification, counting and ordering of numbers

Question Number : 52 Question Id : 953357248606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 953357248607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which one of the following should NOT be feature of Mathematics text books at primary level?

Options :

1. Concept should be linked to higher classes
» Concept should be presented in a hierarchical manner
3. Concept should be presented from complex to simple

4. Concept should be presented in contextual form wherever possible

Question Number : 53 Question Id : 953357248607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 953357248608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Use of manipulatives is integral to the teaching-learning of mathematics at primary level because
Options :
1. Ithelps to make connections with other subjects in Primary curriculum

5 It helps the school score better during annual inspection
3. It helps the learner to comprehend the mathematical concept

4. It saves teacher's time as she/he does not have to solve the problems on black board

Question Number : 54 Question Id : 953357248608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 953357248609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

56

To an addition problem, 22 | a class 2 student responded as

56
%. As a reflective mathematics teacher, what will be your

reaction to the child's answer?
Options:

1. Ask the child to recheck the answer

5 Tell the child that the answer is wrong and consult the answer with the peers
3. Facilitate the child in conceptualising the addition through regrouping with a focus on place value system

4. Askthe child to go through the solved problems in the textbook and practice similar questions

Question Number : 55 Question Id : 953357248609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



cp T2 F T S () F WA I v w0 | e
138

138

84 - ; -
TS ARSI VT STE20% o AT D13 o 36 ST W 719 Al 397 e shaT S

Options :

1 ST T T T mmﬁyzﬁaﬁl

5. ST 1 FAT 13 THHT I HE FE1 © AT Tg T T I 0 ] =

; T S 301 SO O 2 < 3 T T 00 o 1§ 7 1 STl 1 97 1, e el

. ST 1 FEAT (o6 T WIZT TE% J 87 190 39 T o TAT 1 STV |

Question Number : 56 Question Id : 953357248610 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Curriculum Framework, 2005 recommends that teaching-learning of mathematics in primary classes
need to follow an integrated approach which implies that

(a) mathematics needs to be integrated with problem solving.

(b) mathematics needs to be integrated with child's experiences inside and outside the classroom.

(c) mathematics needs to be integrated with other subjects like Environmental Science and Language.

(d) mathematics need not be integrated with higher mathematics.

Options :
1. bandc
> aandb

3 candd

4. aandd



Question Number : 56 Question Id : 953357248610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1. b 3ﬁ’( c

2. ﬁaﬁTb
3. CaﬁTd

4. aaﬁTd

Question Number : 57 Question Id : 953357248611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a dynamic mathematics software that brings together geometry, algebra,
spreadsheets, graphing, statistics and calculus in one easy-to-use package?

Options :
1. GeoGebra

, Pattern Shapes

3. Geometry Pad



4. Splash Math

Question Number : 57 Question Id : 953357248611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 953357248612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following activities is/are appropriate for teaching of numbers from 1 to 9.
a. Give different objects and use one-to-one correspondence and ask students to count.

b. Give a number and ask students to collect the objects associated with the number.

C. Recite the number from 1to 9 in a sequence orally till the students could memorise it

Options :
1.aandb

2. bandc



3. aandc

4. only 'a’

Question Number : 58 Question Id : 953357248612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. a3ﬁTb
2. bSﬁ'{c
3. ﬁaﬁTC

4. ma

Question Number : 59 Question Id : 953357248613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class text, to the question, find out 23% of 200, two students answered in following ways:
Student A: 23%0f200  =23% of (100+100)

=23 + 23 = (20+20) + (3+3)

=46

Student B: 23% of 200 = 200x 1—30 =2x23 =46
Which of the following statements is the most appropriate in the given context?

Options :



1. Since student B has used the standard algorithm, teacher gives full marks to student B and zero to student A

Teacher gives full marks to both the students as they have attempted the question using their own
5 algorithms. Both formal and informal algorithms are integral to solving problems in mathematics.

Teacher gives zero marks to student A and directs him to redo the question using the algorithm taught in the
3. class

4. Teacher accepts both the responses but directed student A to refrain from using informal algorithm

Question Number : 59 Question Id : 953357248613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T AT T T T 70 757, “200 T 23%” T 11970 300 31 AT 3 (7 Tohm | S fe -
T A: 23% of 200 = 23% of (100+100)
=23 +23=(20+20) + (3+3)
=46

BT B: 23% of 200 = 200 X % = 9x23 =46
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Question Number : 60 Question Id : 953357248614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Kamala, while introducing the concept of "Similarity" has provided different experiences to her students
such as models of different shapes, pictures of shapes projected via computer, discussion in groups etc. The
intention of Ms. Kamala in providing multiple experiences to the learners is:-

Options :
1 to give some free time to children
» to help slow learners

3. to help gifted learners

4. to cater the needs of all learners

Question Number : 60 Question Id : 953357248614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Environmental Studies

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

9533578440
3

Online
Mandatory
30

30

30

Yes

1
95335714824

Yes

Question Number : 61 Question Id : 953357248615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Your house is located at X and your school is located at Y. To reach your school at Y you first go 3

km due north and then 4 km due east. With respect to your school at Y the minimum distance and

direction of your house respectively are:
Options :

1.7 Km south

2.7 Km east

3.5 Km south west

4.5 Km north west

Question Number : 61 Question Id : 953357248615 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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4 5 km SR Uiy

Question Number : 62 Question Id : 953357248616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I (Place) II (Most liked food)

A Goa I Chholay Bhature

B Kashmir II cooked Sankes

C Kerala III Boiled tapioca with cury

D Hongkong IV Sea fish cooked in coconut oil

V Fish cooked in mustard oil



The correct match of the items of columnIandlIlis

Options :

1.A-IVB-IIIC-IID-V
2.A-IVB-IIIC-VD-II
3.A-IVB-IC-IID-1I

4. A-IVB-VC-IIID-II

Question Number : 62 Question Id : 953357248616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ (FIT) 1 (2Teaferes HereT 9is )

(A) T3 | et Wat

(B) F=HR [1 G727 7Y

(C) F= [l ST o |7 ITAT STUTT

(D) EFTHRT l&-’ﬂlfwﬂ%aﬁﬁaﬁ‘ﬂﬂﬁw
V FTET 3 9 O 51T T2

FerT | 3R 11 37 921 foem &-

Options :

1. A-IV B-III C-II D-V

5 A-IV B-III C-V D-II

3. A-IV B-I1C-IIl D-1I

4 A-IV B-V C-TII D-I

Question Number : 63 Question Id : 953357248617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Chillies are one of the most important spices used almost in every part of our country. This spice

was brought in our country by the traders coming from
Options :

1. China

2. South Africa

3. South America

4. Afghanistan

Question Number : 63 Question Id : 953357248617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357248618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Neighbouring states of Gujarat are

Options :

1. Rajasthan, Maharashtra, Madhya Pradesh
2. Maharashtra, Madhya Pradesh, Karnataka

3. Rajasthan, Bihar, Madhya Pradesh



4. Rajasthan, Karnataka, Maharashtra

Question Number : 64 Question Id : 953357248618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 953357248619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The name of the bird which has eyes in front of its head like in human beings is
Options :

1. kite

2. eagle

3. vulture

4. owl

Question Number : 65 Question Id : 953357248619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 66 Question Id : 953357248620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of three birds whose every member can see distinctly the object four times as far as

human beings can see from a distance of 2 meters is
Options :

1. eagles, crows, pigeons

2. eagles, kites, vultures

3. Pigeon, parrot, kites

4. Crows, Kites, nightingales

Question Number : 66 Question Id : 953357248620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁ?mﬂaﬁw BLER Mah SHS aﬁmmwﬁmw WTFIT aﬁmﬁawa@m% (ST
Eﬁaw&rmﬁﬁ@éaﬁ%-ﬁammnﬁaaﬁaa@m?)ﬁw%’

Options :

| FT3TT, FAT



Question Number : 67 Question Id : 953357248621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Andaman Islands were hit by the sumani in the year
Options :

1.2001

2.2002

3. 2004

4.2012

Question Number : 67 Question Id : 953357248621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS 3 F1AT H AT o T F 277 o1
Options :

1. 2001

2. 2002

3. 2004

4. 2012



Question Number : 68 Question Id : 953357248622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about sloth.

(A) A sloth spends almost 20 hours a day sleeping while hanging upside down on a tree branch

(B) A sloth eats the leaves of the same tree on which it lives. It hardly needs everything else

C. Sloths life is about 20 years and in that time it moves around only two trees. The correct

statements is/are
Options:
1.Only A

2.0nly B
3.Aand B
4.Band C

Question Number : 68 Question Id : 953357248622 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357248623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A tourist boarded a train on 12-10-2021 from Gandhi dham for Nagarcoil. The train departed from
Gandhidham at 22:30 hours and reached Nagarcoil at 22:30 hours after two days on 14-10-2021. If
the distance between the railway station of Gandhidham and Nagarcoil is 2592 km, the average
speed of the train was

Options :

1.15m/s

2.27 m/s

3.30 m/s

4,54 m/s

Question Number : 69 Question Id : 953357248623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 15m/s

> 27m/s



3. 30m/

(¥4}

4. d4m/s

Question Number : 70 Question Id : 953357248624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The state in which the "Ghana National Park" is located is
Options :

1. Uttar Pradesh

2. Uttrakhand

3. Rajasthan

4. Gujarat

Question Number : 70 Question Id : 953357248624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357248625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

what kind of houses should the villagers/people living in the regions with heavy rains (Such as

Assam) make ?

Options :

1. Bamboo houses

2. Houses on stilts (Bamboo pillars) with sloping roofs
3. Houses with mud and straws

4. wooden houses with flat roofs

Question Number : 71 Question Id : 953357248625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 953357248626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The pitcher plant which can trap and eat insects and even frogs is also found in one of the eastern

states of our country. The name of this state is



Options :

1. Nagaland
2. Meghalaya
3. Assam

4. Mizoram

Question Number : 72 Question Id : 953357248626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 73 Question Id : 953357248627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The clinical Pathology Reports of two children were as given follows

Aarti : Age - 12 yrs, Female, Haemoglobin - 10.5 g/dL

Naman : Age - 12 yrs, Male, Haemoglobin - 8 g/dL



which one of the following conclusions can be drawn on the basis of the above reports ?
Options :

1. Aarti is anaemic

2. Naman is anaemic

3. Both are anaemic

4. Both are not anaemic

Question Number : 73 Question Id : 953357248627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357248628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about Al-Biruni, a traveller who visited our country-



(A) Al-Biruni visited India more than a thousand years ago.

(B) He wrote about those things of our country that he found very different from things in his own

country, specially the ponds for strong water
(C) We can learn a lot about our history from his writings

The correct statement is/are
Options :

1.0nly B

2.0nly C

3.BandC

4. A, BandC

Question Number : 74 Question Id : 953357248628 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4 A BERC

Question Number : 75 Question Id : 953357248629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following persons first peeped into a mosquito stomach and proved that the

mosquito spread malaria. Later on he was awarded the Noble Prize for Medicine for this discovery.
Options:

1. Gregor Mendel

2. Rosalind Franklin

3. Ronald Ross

4. Beaumont

Question Number : 75 Question Id : 953357248629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357248630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Environment studies the thematic approach has been adopted instead of topics because

(A) It enables a connected and interrelated understanding

(B) It enables easier teaching and understanding

(C) It enables delimiting the content for a particular class

(D) It enables students to learn from experiences
Options:

1.A,B&C

2.A,C&D

3.A,B&D

4.B, C&D

Question Number : 76 Question Id : 953357248630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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;3 A&Donly

4. B&Donly

Question Number : 77 Question Id : 953357248631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Nature of Environmental studies is
Options:

1. More a noun than a verb

2. More a verb than a noun

3. Both noun and verb

4. Neither noun nor verb

Question Number : 77 Question Id : 953357248631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357248632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While planning to teach ' Pollution' in her next class, Nivedita found that students from rural
background have not heard of term "Pollution" and hence will have difficulty in understanding it.

Which method should Nivedita use to introduce this concept?

(A) Lecture
(B) Brain Storming
(C) Play through Puppets

(D) Field visit
Options :

1.C&D only
2. A& Conly
3.B&Conly

4.B & D only

Question Number : 78 Question Id : 953357248632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357248633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After completing a chapter on "Family and Friends" Chetan decides to take a Unit test of students.

Which of the following statements is the most suitable objective of taking this test ?

(A) Assessment of students progress
(B) Assessment of students learning
(C) Informing parents about students progress

(D) Declaring students pass or fail
Options :
1.A,B&D
2.A,B&C
3.B,C&D

4. A, C&D

Question Number : 79 Question Id : 953357248633 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357248634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

William , a teacher wants to set up a Bird watching club for his class. Whom should he appoint as

leader of this club ?

Options:

1. To the student who gains highest marks in class.
2. To most notorious student of class.

3. Form small groups and ask them to select leaders.

4. He should declare himself leaders.

Question Number : 80 Question Id : 953357248634 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357248635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While discussing chapter 'Food', Gurpreet asks questions to students, such as "Who eats last in
your family ? Who buys the vegetables ? Who cooks the food in your family ?" She is trying to

discuss on which of the following issue of EVS ?
(A) Eating habits of family

(B) Family should eat together

(C) Role of family members in cooking food

(D) Challenge gender roles in family
Options:
1.A&D only

2.B & Conly



3.C&Donly
4.A,B,&Conly

Question Number : 81 Question Id : 953357248635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357248636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Shyam informs his teacher in an online class that he was asked by his father to provide food to the
neighbouring poor children during Covid lockdown. This behaviour of Shyam will be recorded in

which of the following tools to assess co-scholastic aspect ?
Options :

1. Observation schedule



2. Rating scale
3. Anecdotal Record

4. Portfolio

Question Number : 82 Question Id : 953357248636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357248637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Igbal, a student of Geeta's class is visually impaired. Geeta observes that he is not coming to
school since past few days. On talking to his parents, she finds that Igbal is finding difficulty to see
what is written on the board and also not able to participate in classroom processes. What should

Geeta do to motivate Igbal to attend school?
Options :
1. Allow him to learn from home

2. Ask his parents to consult a doctor



3. Plan a classroom play with a role to play for Igbal

4. Make Igbal sit in the front seat

Question Number : 83 Question Id : 953357248637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357248638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rishi is planning to teach, "Things that we make and do". He wants to discuss how silk is produced.

Which of the following is the most suitable strategy for this?
Options :

1. Classroom discussion

2. Inviting expert lecture

3. Documentary presentation

4. Visit to a sericulture Unit



Question Number : 84 Question Id : 953357248638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357248639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
An EVS Teacher must

Options :

1. construct curriculum

2. follow curriculum

3. transmit curriculum

4. implement curriculum

Question Number : 85 Question Id : 953357248639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357248640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

There are no text books of EVS for classes I & II This is because -

Options :

1. Environmental concepts are difficult to teach students of these classes

2. Environmental components have been integrated with Language and Mathematics
3. This has been done to reduce the burden of teachers and students

4. The curriculum lays emphasis on moving beyond the text books.

Question Number : 86 Question Id : 953357248640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357248641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ramesh plans a play for the class V as the method for teaching 'Animals’

What should he do ?

Options :

1. Select an already written play & direct it
2. Write the play himself & direct it

3. Ask students to write the play & enact

4, Search for an already enacted play

Question Number : 87 Question Id : 953357248641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357248642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During discussing 'water’, Shivangi asked her students of class I to draw sky. Sam coloured sky
green. On asking why he has chosen this colour, he replied the pond near his home is green and

since water comes from sky, sky must be green. Shivangi must
Options :

1. Appreciate his creativity

2. Tell him that the sky is blue

3. Arrange sky observation

4. Tell him that the sky is black

Question Number : 88 Question Id : 953357248642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357248643 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Formative assessment for EVS is

(A) Assessment for learning

(B) Assessment of learning

(C) Assessment as learning

(D) Assessment about learning
Options :

1.A& COnly

2.A,B&C

3.Band Conly

4.B,C&D

Question Number : 89 Question Id : 953357248643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

2.5 ", % {0 =TT e -
A I ﬁﬂt{ HAThoA

B AT T SATHA

C AT & |1 ST

D AT & I F 2T
Options :

1. FEAAHFRC

, A,B#HRC

3, FEAB SR C



. B.C ¥R D

4

Question Number : 90 Question Id : 953357248644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following tool can be used for formative assessment in E.V.S ?
Options :

1. Peer assessment

2. Self assessment

3. observation

4. Annedotal record

Question Number : 90 Question Id : 953357248644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Language I

Section Id : 9533578441
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 95335714825
Question Shuffling Allowed : Yes

Question Id : 953357248645 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

(1) The monthly report card in school would make some children
gloat and others weep. I did neither. I just took it because I saw it
as a transaction between my teacher and my father! Reading it
always made my father blow up. The teacher must have said
something not so nice. But I was unconcerned. I had too much
else going on that interested me.

(2) The alarming increase in student suicides today is because we
have created a society founded on the premise that life is a race.
So you rush to the finishing line! Is it any wonder that so many
choose to end their lives? This is the self-destructive model we
have created for ourselves.

(3) If our joy is about being better than someone else, it is not
success; it is sickness. To reap the benefits of someone else’s
failure is a tragic way to live.

(4) Each individual is born with a particular kind of genius.
Education should create the right atmosphere to allow that genius
to flower to its optimal potential.

(5) A student asked, how to live in an increasingly competitive
and ambitious world. I told him, whether, knowledge, power, love
or fame, you are essentially trying to experience a little more of
life than you have now. The man going to the bar and the man
going to the temple are seeking the same thing! They are looking

for fulfilment, but through different means. Both want an
experience of life that is a little more intense and pleasurable than
it is currently.

(6) At present, the stimuli are outside. But once you know that
the source of both pleasure and pain, agony and ecstasy are
within you, why would you outsource it? Why would you export
it to alcohol or heaven or to some authority figure?

Sub questions

Question Number : 91 Question Id : 953357248646 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is FAT SE?
The author was unconcerned about his report card because:
1. his teacher seemed to be satisfied .
2. he believed it was something between his father and
his teacher.
3. he was occupied with other things which interested
him.
4. the report would make his father flare up.



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357248647 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the author competition based learning
1. is not appreciated by parents.
2. is needed by students.
3. leads to overall development.
4. is self-destructive.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357248648 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?
Our students miss out on the joy of learning because:
1. they want to outperform others.

2. theyv love to study books.
3. their focus is only on studies.
4. they think life is a race.
Options :
1.1
2.2
3.3

4.4



Question Number : 94 Question Id : 953357248649 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The role of education, according to the author ., should be
1. to help talented students to realise their full potential.
2. to equip students with useful skills.
3. to sharpen the competitive ability of the students.
4. to build the character of the students.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357248650 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the sentences given below:
A. We all look for fulfilment in our own way.
B. The source of both pleasure and pain is within us.
1. Both A and B are true.

2. Only A is true
3. Both A and B are false.
4. Only B is true.
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357248651 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following words is similar in meaning to
the word, ‘alarming” as used in the passage? (para2)
1. disgusting
2. disappointing
3. disheartening
4. disturbing
Options :
1.1
2.2
3.3

4.4

Question Number : 97 Question Id : 953357248652 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is most opposite In meaning
to the word, ‘particular’ as used in the passage (para4)
. random
general
peripheral
integral

W 1

e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357248653 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the

following sentence?

“It was a transaction between my teacher and my father™.
1. Adjective

Conjunction

Preposition

Pronoun

W 1

il



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357248654 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the sentence given below contains an error?

Reading it always made
(a) (b)
my father to blow out
(c) (d)
1. (b)
2. (a)
3. (d)
4. (c)
Options :
1.1
2.2
3.3
4.4

Question Id : 953357248645 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

(1) The monthly report card in school would make some children
gloat and others weep. I did neither. I just took it because I saw it
as a transaction between my teacher and my father! Reading it
always made my father blow up. The teacher must have said
something not so nice. But I was unconcerned. I had too much
else going on that interested me.

(2) The alarming increase in student suicides today is because we
have created a society founded on the premise that life is a race.
So you rush to the finishing line! Is it any wonder that so many
choose to end their lives? This is the self-destructive model we
have created for ourselves.

(3) If our joy is about being better than someone else, it is not
success; it is sickness. To reap the benefits of someone else’s
failure is a tragic way to live.

(4) Each individual is born with a particular kind of genius.
Education should create the right atmosphere to allow that genius
to flower to its optimal potential.

(5) A student asked, how to live in an increasingly competitive
and ambitious world. I told him, whether, knowledge, power, love
or fame, you are essentially trying to experience a little more of
life than you have now. The man going to the bar and the man
going to the temple are seeking the same thing! They are looking

for fulfilment, but through different means. Both want an
experience of life that is a little more intense and pleasurable than
it is currently.

(6) At present, the stimuli are outside. But once you know that
the source of both pleasure and pain, agony and ecstasy are
within you, why would you outsource it? Why would you export
it to alcohol or heaven or to some authority figure?

Sub questions

Question Number : 91 Question Id : 953357248646 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is FAT SE?
The author was unconcerned about his report card because:
1. his teacher seemed to be satisfied .
2. he believed it was something between his father and
his teacher.
3. he was occupied with other things which interested
him.
4. the report would make his father flare up.



Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357248647 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the author competition based learning
1. is not appreciated by parents.
2. is needed by students.
3. leads to overall development.
4. is self-destructive.

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357248648 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?
Our students miss out on the joy of learning because:
1. they want to outperform others.

2. theyv love to study books.
3. their focus is only on studies.
4. they think life is a race.
Options :
1.1
2.2
3.3

4.4



Question Number : 94 Question Id : 953357248649 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The role of education, according to the author ., should be
1. to help talented students to realise their full potential.
2. to equip students with useful skills.
3. to sharpen the competitive ability of the students.
4. to build the character of the students.

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357248650 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the sentences given below:
A. We all look for fulfilment in our own way.
B. The source of both pleasure and pain is within us.
1. Both A and B are true.

2. Only A is true
3. Both A and B are false.
4. Only B is true.
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357248651 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following words is similar in meaning to
the word, ‘alarming” as used in the passage? (para2)
1. disgusting
2. disappointing
3. disheartening
4. disturbing
Options :
1.1
2.2
3.3

4.4

Question Number : 97 Question Id : 953357248652 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is most opposite In meaning
to the word, ‘particular’ as used in the passage (para4)
. random
general
peripheral
integral

W 1

e

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357248653 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the

following sentence?

“It was a transaction between my teacher and my father™.
1. Adjective

Conjunction

Preposition

Pronoun

W 1

il



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357248654 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the sentence given below contains an error?
Reading it always made
(a) (b)

my father to blow out
(c) (d)

(b)
(a)
(d)
(c)

o bl

>

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335714826

Question Shuffling Allowed : Yes

Question Id : 953357248655 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the extract given below and answer the questions by selecting
correct/most appropriate options.

1. OftI had heard of Lucy Gray,
And when I crossed the wild
I chanced to see at bread of day
The solitary child.

2. No Mate, no comrade Lucy knew:;
She dwelt on a wild moor,
The sweetest thing that ever grew
Beside a human door!

3. You yet may spy the Fawn at play.
The Hare upon the green:
But the sweet face of Lucy Gray
Will never more be seen.

4. “ Tonight will be a stormy night,
You to the town must go,
And take a lantern, Child to light
Your Mother thro, the snow.”

Sub questions

Question Number : 100 Question Id : 953357248656 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Complete the following sentences:

The poet had heard of Lucy Gray.
seldom

often

rarely

never

W =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357248657 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The poet ‘chanced to see’ Lucy
1. at noon.
2. at dusk.
3. in the afternoon.
4. at dawn.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357248658 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet calls Lucy Gray a solitary child because:
1. she is shy by nature.
2. her parents had kept her apart from others.
3. she has no friend, no companion.
4. she is an introvert.

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357248659 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lucy’s father asked her to take a lantern with her because
1. the moor was interested with snakes.

it was going to be a stormy night.

the way to the town was not safe.

she might encounter robbers.

w1

B

Options:
1.1
2.2



3.3
4.4

Question Number : 104 Question Id : 953357248660 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What rhyme scheme has been used in the first stanza of the
extract?

ab, ac

aa.bb

ab, ab
aa. aa

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357248661 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I[dentify and name the figure of speech used in “to the town’
in stanza

1. smile

2. alliteration

3. metaphor
hyperbole

e

Options :
1.1
2.2
3.3
4.4

Question Id : 953357248655 Question Type : COMPREHENSION Sub Question Shuffling



Allowed : Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the extract given below and answer the questions by selecting
correct/most appropriate options.

1. Oft I had heard of Lucy Gray.
And when I crossed the wild
I chanced to see at bread of day
The solitary child.

2. No Mate, no comrade Lucy knew;
She dwelt on a wild moor,
The sweetest thing that ever grew
Beside a human door!

3. You yet may spy the Fawn at play,
The Hare upon the green:
But the sweet face of Lucy Gray
Will never more be seen.

4. * Tonight will be a stormy night,
You to the town must go,
And take a lantern, Child to light
Your Mother thro, the snow.”

Sub questions

Question Number : 100 Question Id : 953357248656 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Complete the following sentences:

The poet had heard of Lucy Gray.
seldom

often

rarely

never

W -

e

Options:
1.1
2.2
3.3
4.4



Question Number : 101 Question Id : 953357248657 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet ‘chanced to see’ Lucy
1. at noon.
2. at dusk.
3. in the afternoon.
4. at dawn.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357248658 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poet calls Lucy Gray a solitary child because:
she is shy by nature.

her parents had kept her apart from others.
she has no friend, no companion.

4. she is an introvert.

Wb -

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357248659 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lucy’s father asked her to take a lantern with her because
1. the moor was interested with snakes.
2. it was going to be a stormy night.
3. the way to the town was not safe.

she might encounter robbers.

>



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357248660 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What rhyme scheme has been used in the first stanza of the
extract?

ab, ac

aa.bb

ab, ab

aa, aa

e ol vl

s

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357248661 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the figure of speech used in “to the town’
in stanza

1. smile

2. alliteration

3. metaphor

4. hyperbole

Options:
1.1
2.2
3.3
4.4



Sub-Section Number : 3
Sub-Section Id : 95335714827

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357248662 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Graphology is the study of

1. the graph system

2. how words are pronounced and its graphical representation.

3. writing system of a language and the conventions used in representing speech in writing.
4. lexical items and how they are grouped together.

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357248662 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Graphology is the study of

the graph system

how words are pronounced and its graphical representation.

writing system of a language and the conventions used in representing speech in writing.
lexical items and how they are grouped together.

Fha e B s

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357248663 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The task and activities in language learning should
1. be based on the chapters of the textbooks only.
2. be in simple language
3. provide an opportunity of learning by doing.
4. not be related to any concept of the textbook.

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357248663 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The task and activities in language learning should
1. be based on the chapters of the textbooks only.
2. be in simple language
3. provide an opportunity of learning by doing.
not be related to any concept of the textbook.

e

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357248664 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The activities and exercises included in the textbook primarily aim at
1. engaging students after school hours.
2. enhancing language skills and vocabulary.
3. developing taste for the textbooks reading.
4. only transacting textual material in a language classroom.

Options :



1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357248664 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The activities and exercises included in the textbook primarily aim at
1. engaging students after school hours.
2. enhancing language skills and vocabulary.
3. developing taste for the textbooks reading.
4. only transacting textual material in a language classroom.

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357248665 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Every poem has a specific meaning and children love to read poems. What do you understand by this statement?
1. Poet has written a poem with some meaning and every child must understand that meaning to enjoy it.
2. Every child enjoys and understands the poem as per their background and experience.
3. Finding different meanings for the same poem may hamper the reading process.
4. Poems should be read to understand the specified meaning.

Options :
1.1
2.2
3.3
4.4



Question Number : 109 Question Id : 953357248665 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Every poem has a specific meaning and children love to read poems. What do you understand by this statement?
1. Poet has written a poem with some meaning and every child must understand that meaning to enjoy it.
2. Every child enjoys and understands the poem as per their background and experience.
3. Finding different meanings for the same poem may hamper the reading process.
4. Poems should be read to understand the specified meaning.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357248666 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Diagnostic assessment is part of
1. Summative assessment
Formative assessment
Both summative and annual assessment
4. Assessment of learning

w1

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357248666 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Diagnostic assessment is part of
1. Summative assessment
Formative assessment
Both summative and annual assessment
4. Assessment of learning

w1

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357248667 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach basically promotes fluency?
1. Structural approach
2. Communicative approach
3. Behaviouristic approach
4. Grammar translation approach

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357248667 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach basically promotes fluency?
1. Structural approach

Communicative approach

Behaviouristic approach

Gramumar translation approach

w1

B

Options :

1.1



2.2
3.3
4.4

Question Number : 112 Question Id : 953357248668 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following would you adopt in vour language classroom to enhance critical thinking among the
learners?

[ Read aloud the textbook in the classroom.

2. Write the answers to the questions on the blackboard.

3. Giving situations and asking them to discuss and solve them among the group

4. Organising a handwriting competition

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357248668 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following would vou adopt in vour language classroom to enhance critical thinking among the
learners?
I Read aloud the textbook in the classroom.
. Write the answers to the questions on the blackboard.
. Giving situations and asking them to discuss and solve them among the group
4, Organising a handwriting competition

LA I ]

Options :
1.1
2.2
3.3
4.4



Question Number : 113 Question Id : 953357248669 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following refers to deducing meaning from the clues available in the text?
1. Inferential
2. Global
3. Local
4. Transactional

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357248669 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following refers to deducing meaning from the clues available in the text?
1. Inferential
2. Global
3. Local
4. Transactional

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357248670 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



involves generating ideas, deciding on the form of the written text and also thinking about who

will read it.
. Transcription
2. Composition
3. Transactional
4. Connotation

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357248670 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

involves generating ideas, deciding on the form of the written text and also thinking about who

will read it.
. Transcription
2. Composition
3. Transactional
4. Connotation

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357248671 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As a teacher you wish to enhance the reading skill of your learners. To encourage them for self-reading, you will;
1. ask the principal to arrange a period specifically for self-reading in the time-table other than the English periods.
2. ask their parents to help them at home.
3. talk to your learners about what they do and don’t like to read and also share your experiences with them giving
examples.
4. Instruct them to read a book daily otherwise they will lose their grades.



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357248671 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As a teacher you wish to enhance the reading skill of your learners. To encourage them for self-reading, you will;
1. ask the principal to arrange a period specifically for self-reading in the time-table other than the English periods.
2. ask their parents to help them at home.
3. talk to your learners about what they do and don’t like to read and also share your experiences with them giving
examples.
4. Instruct them to read a book daily otherwise they will lose their grades.

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357248672 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Comprehensible input refers to .
l. reading the text and comprehending it
2. reading the text and giving input while summarising it.
3. meaningful oral and written language slightly above the learner’s current level of mastery.
4. meaningful oral and written language slightly below the learner’s current level of mastery.

Options :
1.1
2.2
3.3
4.4



Question Number : 116 Question Id : 953357248672 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Comprehensible input refers to .
l. reading the text and comprehending it
2. reading the text and giving input while summarising it.
3. meaningful oral and written language slightly above the learner’s current level of mastery.
4. meaningful oral and written language slightly below the learner’s current level of mastery.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357248673 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Apart from the four language skills which one of the following is also called a language skill?
1. Study skill
2. Communication skill

. Thinking skill

4. Oral skill

Lad

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357248673 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Apart from the four language skills which one of the following is also called a language skill?
1. Study skill
2. Communication skill
3. Thinking skill
4. Oral skill

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357248674 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language normally used in informal conversation but not in formal speech or writing is called
1. collocation
2. colloquial
3. clue
4. chunk

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357248674 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language normally used in informal conversation but not in formal speech or writing is called
1. collocation
2. colloquial
3. clue
4. chunk

Options:

1.1



2.2
3.3
4.4

Question Number : 119 Question Id : 953357248675 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Prose does not include a
1. play
2. novel
3. poem
4. story

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357248675 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Prose does not include a
1. play
2. novel
3. poem
4. story

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357248676 Question Type : MCQ Option Shuffling :



No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a writer describes an incident or a scene which had occurred in his life or any other person’s life on the basis of
memory, it is called

. character sketch

2. travelogue

3. essay on experience

4. memoir

Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357248676 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When a writer describes an incident or a scene which had occurred in his life or any other person’s life on the basis of
memory, it is called

. character sketch

2. travelogue

3. essay on experience

4. memoir

Options :
1.1
2.2
3.3
4.4
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Mandatory or Optional : Mandatory

Number of Questions : 17
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Clear Response:
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Question Shuffling Allowed : Yes

Question Id : 953357248677 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions




Question Number : 121 Question Id : 953357248678 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T € ®H A g ATAS o7
. T T
e
3. FUiTETTg U
4. TR T

Options :

t-2

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357248679 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=g o 99T 9IS i #T T AT 2

1. FEI T
2. Y UTSH

=
b= k-

3
4. Heis{
Options:
1.1
2.2
3.3

4.4

Question Number : 123 Question Id : 953357248680 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357248681 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT =g T U
. TS o T

Options:

-3 — G

e

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357248682 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TREF T AT=0% | Y F (6 53 1 A TR 16T 2

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357248683 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
HehdT |
|. TEF
T3
3. T WO
4. a7 oAt

Options:

-3

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357248684 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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I3

AT

4. TS
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357248685 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1947 3762 HH{\EﬁﬁFT%‘?
|. TomamT
qu; I

3. fe@mn

4. =@
Options :

-3

1.1
2.2
3.3
4.4

Question Id : 953357248677 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 953357248678 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T W HH T TS HATATR &7
. TS A
2. IS
3. Uit U]
4. T

Options :
1.1
2.2
3.3

4.4



Question Number : 122 Question Id : 953357248679 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=g 3 T UTSE & FTEITE 2

1. == et
2. AMHURH

-
k=

3

4. ﬂﬁﬁ;{
Options :
1.1
2.2
3.3

4.4

Question Number : 123 Question Id : 953357248680 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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. T o@ 4
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357248681 Question Type : MCQ Option Shuffling :



No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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. wuTrEt & et

4. wmegfies S Sef

Options:
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1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357248682 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TG = A8 § T % 1 55 ol R Hehd (A1 57

[

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357248683 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357248684 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. TSR

[
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357248685 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|, fer
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Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335714829

Question Shuffling Allowed : Yes

Question Id : 953357248686 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 953357248687 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WA F97 § Hia w1 gas] o
1. e 3t giamet ArEvasare
2. ST © SET ATETEERATHA]
3. T AR gEA Y A

Options :

1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 953357248688 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. HiEe &t i
2. HREg T AT i HEed Al
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4. TG J FEwT H A
Options :
1.1
2.2
3.3

4.4

Question Number : 131 Question Id : 953357248689 Question Type : MCQ Option Shuffling :



No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357248690 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. |1y, e
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4. THRATT, gEsa

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357248691 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357248692 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

L

1.1
2.2
3.3
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Question Number : 135 Question Id : 953357248693 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. HrI?'IBI._ HeeT, {3
Options :
1.1
2.2
3.3

4.4

Question Id : 953357248686 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 953357248687 Question Type : MCQ Option Shuffling :



No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 953357248688 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357248689 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 132 Question Id : 953357248690 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. |1y, e
2. Termer, A
4. THaaT, g

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357248691 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. e, TR

2. HrEgaT, Hig= I

3. HRg, wreET

Options :

1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357248692 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. HeET
Options :

L

1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357248693 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 95335714830

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357248694 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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Question Number : 136 Question Id : 953357248694 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 953357248695 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 137 Question Id : 953357248695 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 138 Question Id : 953357248696 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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Question Number : 138 Question Id : 953357248696 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 139 Question Id : 953357248697 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357248697 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 140 Question Id : 953357248698 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 140 Question Id : 953357248698 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
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Question Number : 141 Question Id : 953357248699 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FETT T T TS (31509 o w9 5 A7 o 6g T F@eF 2 &
. FETE W

HIEATTHIT UST 9t

[

3. =T HUSAW
4. T AT T
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357248699 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FET TRy 9T UF BTF FETH m%@rﬁgmwﬁmmﬁﬁﬁ?
. T W
Hidliﬂit J34q U*.

I3

3. =T FHUST T
4. T FATIEA T
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357248700 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS o G THISH U8 AHE TTH F F9 ST TR T UT a7 f3meqor =7
|, TS T 2

e FEU 35 ©

3 Hd?ﬁﬁqﬁrd%??a%ﬂ%l

4. FEH FH TEcaY Tevd ©

| ]

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357248700 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS % T TS UG ST TTH 5 TFY ST T THeR T UT 9TST {74707 37 —
|. T = T

. T HEeEqy 359 €

3. At TEeT e 2

4. FEH FH AEE 367 °

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357248701 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

G FHIITE F T Feeaut 6y 2 -
|. TER] = TEE

. HTETT T T

3. =

[

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357248701 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



G I F T F Feeaqut 6y 2 -
1. 279 I s9EE
. AT T I

. fa=m

3

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357248702 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g ST F [T I Halre Taeaqul & —
|. ama=ia

. FEAATAS
4. HHER =4

Options :

[

LS ]

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357248702 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



it stfireates 3 foramer i warfirs Tewaot &
1. STa=Ed
. FHEATITS

4. HFHT=E =+

I3

L]

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357248703 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

arﬁlf|ﬂ£|%mgﬂlt = o HEgd
4. TR T AT FA

[

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357248703 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT 3 TR =t o | 2
4. TR T SATH FA

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357248704 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 31 T oA 1% oTeahall 31 (T el 301 12 o -9 (e 1T 31 27
|, T feaw
). & faset =t T
3. T e
4. T fea@
Options :
1.1
2.2
3.3

4.4

Question Number : 146 Question Id : 953357248704 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST T T S eTeTRal 1 (T %0 3 312§ -7 g Wattes 3 7
|, T e
). 8 Tttt = T
3, TR A
4. T e
Options :
1.1
2.2
3.3

4.4

Question Number : 147 Question Id : 953357248705 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS 3 Ha € e W ST S (g G A MR A e
. T
2. Ug9-Te e
3. I3 | ST
4, W T

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357248705 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS % He H B HE U A S 51 1 W A A FA_ FwAmr
. AT
2. WgF-T O
3. U A0
4. FEd ST

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357248706 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tarendff oy 1 o F A &gﬂrtmﬁﬁﬁﬁﬁr{_wwm@ﬁﬂﬁl
3.
4. AT

I~

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357248706 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



el faore i w-iwiﬁrﬂ?}ﬂmmwﬂ%%gﬂrt%@ﬂ%‘ﬁﬁ@ﬂﬂ_ﬁﬂﬁqﬁqﬁmﬁl
3, e
4. e
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357248707 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feT@ o S8 EFT U HEE 2
|. fe=rtaear

4, AHET
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357248707 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



forE ¥ SIS B T HIS 2

4. AT
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357248708 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TeT Hige § e qg.{-aq&ui £
1. et farersh
2. UIgT-U&dsh

3. TR Sl SATEeTdT

=

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357248708 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST HE T T FEeago & —

ke

[-J

wTeT f3TereR

UT3a-J5%

3. 3TTFAT FT cﬁﬁiﬂm
4.

Options :

1.1
2.2
3.3
4.4



